71
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(o]l 5+ —
S S
7.2
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[go) 44 200, U
s” s S
7.3
= AB as
[Ze]l +
s’+ B* s+
7.4
= (cosa+sina)s , cosa— sina
s +1 s +1
7.5
(o] T4t

s 2(s2+44?)  2(s*+4B?

7.6 sinh®t+cosh?2¢

— 1 1 1 1 1
+ +
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7.10

e’ e’
[Eol] ~ &~
S S

|~

[}

S

7.1

[Zo]] AsinAt
7.12

[Zo]] %t2+bt+c

7.13

[Z0]] 4cosdt+ % sindt

7.14

[Zo]] 3cosh3t— sinh3t¢
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7.27

[Zo]] — %(Coth—l)

7.28

[Foll L(t—++ e )
7.29

el i o1

7.30

[Zo] aco(ssbi-l(;-:la);inb
7.31

[Zo] (811 ; i .

7.32
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[Zo]] f(t)=2e “"cosh4t

7.37

&

y(t) = e — %tJr é sinh2t
7.38

_ _ {0 (t<1)
[E°]] y(t)*{sin(t—n (t>1)
7.39

[Zo]] y(t)ze_ztcos2tu(t)+%e_Q(t_Qﬁ)sirﬁ(t—Qw)u(t—27r)
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7.40
[E°]]
e 2 Bt
-2t -3t l l —2(t—1) 1 —-3(t—1)
y(t)z e + 6 26 e
o2 6731&_,'_%_% —2(t-1) 1673(1571)_’_672(7:72)
7.41
_t-a
%e RC (a<t<bd)
[%O]] Z(t): E a b t
};(630 eRC)e RC (t>b)
7.42
[Zo]] Z(t)z—%{6_10“_”)+cos(t—7r)—IOSin(t—w)}u(t—w)
7.43
= L. __J1—-cost, 0<t<a
Bl 'Z(t)i{cos(t—a)—asin(t—a)—cost,t>a
7.44
[Zo] “ + &
S S
7.45
[Z°]]
Fls)=e 812,12, 8
st s® 52 S
7.46
[Zo]] =5
s”+1
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7.47

- e—b(s—a)

[Eo]] T a

7.48

[Zo]] €' —1

7.49

= 1—cosat

[Eo]] 2z

7.50

(o] — Lot Lt —1)
a a

7.51

[Z0]] ——(at — sinat)

a



